Efficiency vs Dxy(PV)
0.5

[

o

efficiency vs dxy(PV)

o
S N 9O w 2 »

Ratio

-20 -15 -10 -5 0 5 10 15 20
TP dxy(PV) (cm)

—=— DQM_original_step2_tthar-phasel-newgeom
—e— DQM_pixelCPE_step2_ttbar-phasel-newgeom

[Efficienc]| —— DQM_pixelCPEChi20R_step2_ttbar-phasel-newgeom

< 0.5

efficiency vs dxy(PV,
=3 [
e

o
-

Efficiency vs Dz(PV)
0.5

o

efficiency vs dz(PV)
o

o
S N O w 2 »

o
[

-30 -20 -10 0 10 20 30
TP dz(PV) (cm)

Efficiency vs Dz(PV)
0.8,

efficiency vs dz(PV)

Ratio

|

0.5 1
TP dz(PV) (cm)




	Contents
	Page 1


